A Semi-analytical approach via Yang Transform on Fractional-order Sawada-Kotera Equation

Mamta Kapoor*, Simran Kour and Geeta Arora

MSC 2010 Classifications: Primary 34-XX; Secondary 41-XX.

Keywords and phrases: Yang transformation method; time-fractional Sawada-Kotera equation; Caputo derivative.

The authors would like to thank the reviewers and editor for their constructive comments and valuable suggestions that improved the quality of our paper.

Corresponding Author: Mamta Kapoor

Abstract The fractional-order Sawada-Kotera equation has been addressed in this current by applications of the Yang transformation approach. The proposed approach leads to approximateanalytical solutions in the form of a series, which are suitably reliant on fractional-order derivative values and have simple, understandable mechanics. The stability of the numerical technique are investigated when the Caputo fractional derivative is used. The analytical solution of the approach is shown by numerical examples, and it is investigated if the offered procedures are reliable, effective, and minimise the amount of numerical calculations.

1 Introduction

Fractional partial differential equations are encountered in various domains of science and engineering, including physics, electrochemistry, biology, rheology, control theory, system identification, viscoelasticity, and signal processing [1]. These equations play a pivotal role in modelling complex phenomena and processes within these diverse fields. As is generally known, since they are crucial in describing non-linear events, accurate solutions to nonlinear partial differential equations are being studied by more and more mathematicians and physicists. Many researchers in this subject are currently focused on finding precise solutions to non-linear models with fractional order that have been produced [2].

When used to certain physical models that are represented by non-linear partial differential equations, these solutions may exhibit certain insight qualities. However, employing an analytical approach makes it more difficult to find some precise solutions. Numerous approaches have recently been put out to address the new precise solutions, including the generalised Darboux transformation, Residual Power technique, the inverse scattering technique, Adomian decomposition method, the multi-wave approach and many more.

In order to cope with a variety of complex produced partial differential equations, a unique approach called the Yang transformation is used in addition to the Caputo derivative in this study. Non-linear fractional order partial differential equations can be solved quickly and effectively using the Yang transformation. In a number of application disciplines, the current approach may be utilised to compute the solutions to additional high non-linear problems.

The Sawada-Kotera equation is known to belong to the totally integrable hierarchy of higherorder KdV equations and to have several sets of conservation laws. The classical Sawada-Kotera equation holds a fundamental position as a mathematical model with broad applicability across various physical scenarios. It characterizes the propagation of long waves in shallow water under the influence of gravity and in a one-dimensional non-linear lattice [3]. This equation finds extensive applications in fields like quantum mechanics and non-linear optics, where it plays a vital role in describing wave behaviour and complex phenomena. Here, the fifth-order Sawada-Kotera equation is given as [4]-

~

$$w_t + 45w^2w_y + 15(w_yw_{yyy} + w_{yyy}w) + w_{yyyyy} = 0$$

There have been several research on the classical Sawada-Kotera equation, with some significant results. However, according to the author's best understanding, the full investigation of the nonlinear fractional order Sawada-Kotera equation is only getting started.

1.1 Preliminaries

This part will go over some fundamental notions and characteristics of the fractional calculus theory that will be used in our study..

Definition 1. Yang transform is defined as follows [7]-

$$\mathbb{Y}[w(t)] = Y(w) = \int_0^\infty e^{-\frac{t}{w}} w(t) dt; \ t > 0, \ w \ \epsilon \ (-t_1, t_2)$$

Definition 2. The Inverse of the Yang transform is defined as [6]-

$$\mathbb{Y}^{-1}\left[Y(w)\right] = w(t)$$

Definition 3. For n^{th} derivatives, the Yang transform is defined as [6]-

$$\mathbb{Y}(w^{n}(t)) = \frac{Y(w)}{w^{n}} - \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{n-k-1}}; \ \forall n = 1, 2, 3 \dots$$

Definition 4. Yang transform of Caputo fractional derivative is defined as [6]-

$$\mathbb{Y}(w^{\mu}(t)) = \frac{Y(w)}{w^{\lambda}} - \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda - (k+1)}}; \ 0 < \lambda \le n$$

Definition 5. Linearity property of Yang transform is defined as [6]-If

$$\mathbb{Y}\left[w_a(t)\right] = Y_a(w)$$

and

$$\mathbb{Y}\left[w_b(t)\right] = Y_b(w),$$

Then,

$$\mathbb{Y}\left[\alpha_{a}w_{a}(t) + \alpha_{b}w_{b}(t)\right] = \alpha_{a}\mathbb{Y}\left[w_{a}(t)\right] + \alpha_{b}\mathbb{Y}\left[w_{b}(t)\right],$$

$$\mathbb{Y}\left[\alpha_a w_a(t) + \alpha_b w_b(t)\right] = \alpha_a Y_a(w) + \alpha_b Y_b(w)$$

Where, α_a and α_b are the arbitrary constants. **Definition 6.** Linearity property of inverse of the Yang transform is defined as [6]-If

$$\mathbb{Y}^{-1}\left[w_a(t)\right] = Y_a(w)$$

and

$$\mathbb{Y}^{-1}\left[w_b(t)\right] = Y_b(w),$$

Then,

$$\mathbb{Y}^{-1} \left[\alpha_a w_a(t) + \alpha_b w_b(t) \right] = \alpha_a \mathbb{Y}^{-1} \left[w_a(t) \right] + \alpha_b \mathbb{Y}^{-1} \left[w_b(t) \right]$$
$$\mathbb{Y}^{-1} \left[\alpha_a w_a(t) + \alpha_b w_b(t) \right] = \alpha_a Y_a(w) + \alpha_b Y_b(w).$$

Table 1. Chart regarding Yang transform [5]

	w(t)	$\mathbb{Y}[w(t)] = Y(w)$
1.	$\mathbb{Y}[1]$	w
2.	$\mathbb{Y}[w]$	w^2
3.	$\mathbb{Y}[w^i]$	$\Gamma(i+1)w^{i+1}$
4.	$\mathbb{Y}[e^{ct}]$	$\frac{w}{1-cw}$
5.	$\mathbb{Y}[w(ct)]$	$\frac{1}{c}Y\left(\frac{w}{c}\right)$

 Table 2. Chart regarding inverse Yang transform [5]

	Y(w)	$w(t) = \mathbb{Y}^{-1} \left[Y(w) \right]$
1.	w	1
2.	w^2	t
3.	$\Gamma(i+1)w^{i+1}$	t^i
4.	$\frac{w}{1-cw}$	e^{ct}
5.	$\frac{1}{c}Y\left(\frac{w}{c}\right)$	ct

This study is arranged in the following way: In Section 2 we will revise the Yang transformation method in addition with Caputo derivative. In Section 3 we obtain explicit exact solutions. Finally, some conclusions will be given.

2 Methodology

In order to demonstrate the Yang transformation method's solution procedure, we use the following non-linear fractional differential equation.

$$D_t^{\lambda} \left[w(y,t) \right] = \mathfrak{l} \left[w(y,t) \right] + \mathfrak{n} \left[w(y,t) \right] + \mathfrak{h}(y,t) \tag{2.1}$$

Where, D_t^{λ} represents the Caputo operator, \mathfrak{l} is the linear term, \mathfrak{n} is the non-linear term and $\mathfrak{h}(a,t)$ is the source term.

Applying Yang transform in Eq.(2.1):

$$\Rightarrow \mathbb{Y}[D_t^{\lambda}[w(y,t)]] = \mathbb{Y}[\mathfrak{l}[w(y,t)]] + \mathbb{Y}[\mathfrak{n}[w(y,t)]] + \mathbb{Y}[\mathfrak{h}(y,t)]],$$
(2.2)

From Eq.(2.2):

$$\Rightarrow \frac{\mathbb{Y}(w(t))}{w^{\lambda}} - \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda-(k+1)}} = \mathbb{Y}[\mathfrak{l}[w(y,t)]] + \mathbb{Y}[\mathfrak{n}[w(y,t)]] + \mathbb{Y}[\mathfrak{h}(y,t)]],$$

$$\Rightarrow \frac{\mathbb{Y}(w(t))}{w^{\lambda}} = \mathbb{Y}[\mathfrak{l}[w(y,t)]] + \mathbb{Y}[\mathfrak{n}[w(y,t)]] + \mathbb{Y}[\mathfrak{h}(y,t)]] + \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda-(k+1)}},$$

$$\Rightarrow \mathbb{Y}(w(t)) = w^{\lambda} \left[\mathbb{Y}\left[\mathbb{I}\left[w(y,t) \right] \right] + \mathbb{Y}\left[\mathbb{n}\left[w(y,t) \right] \right] + \mathbb{Y}\left[\mathfrak{h}(y,t) \right] \right] + w^{\lambda} \left[\sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda - (k+1)}} \right],$$

$$\Rightarrow w(t) = \mathbb{Y}^{-1} [w^{\lambda} [\mathbb{Y} [\mathfrak{l} [w(y,t)]] + \mathbb{Y} [\mathfrak{n} [w(y,t)]] + \mathbb{Y} [\mathfrak{h} (y,t)]]] + \mathbb{Y}^{-1} [w^{\lambda} [\sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda - (k+1)}}]],$$

$$\Rightarrow w(t) = \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda - (k+1)}} + \mathbb{Y} [\mathfrak{l} [w(y,t)] + \mathfrak{n} [w(y,t)] + \mathfrak{h} (y,t)] \right\} \right].$$

Where,

 $\mathfrak{l}[w(y,t)] = \mathfrak{n}[w_0(y,t)] + \sum_{k=1}^{\infty} \left[\mathfrak{n}\left(\sum_{j=0}^k w_j(y,t)\right) - \mathfrak{n}\sum_{j=0}^{k-1} w_j(y,t) \right],$

$$\begin{split} \mathfrak{l}[w(y,t)] &= \mathfrak{l}[w_0(y,t)] + \sum_{k=1}^{\infty} \left[\mathfrak{l}\left(\sum_{j=0}^{k} w_j(y,t)\right) - \mathfrak{l}\left(\sum_{j=0}^{k-1} w_j(y,t)\right) \right] \\ &\Rightarrow \sum_{\infty}^{r=0} w_r(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda-(k+1)}} + \mathfrak{h}(y,t) \right], \end{split}$$

$$\Rightarrow \sum_{r=0}^{\infty} w_r(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda-(k+1)}} + \mathbb{Y}\left[\mathfrak{h}(y,t)\right] \right\} \right] + \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y}\left\{ \mathfrak{l}\left[w(y,t)\right] + \mathfrak{n}\left[w(y,t)\right] \right\} \right]$$

$$\sum_{r=0}^{\infty} w_r(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda-(k+1)}} + \mathbb{Y}\left[\mathfrak{h}(y,t)\right] \right\} \right] + \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \sum_{k=0}^{\infty} \mathfrak{l}\left[\left[w_k(y,t) \right] \right] + \sum_{k=0}^{\infty} \mathfrak{n}\left[\left[w_k(y,t) \right] \right] \right\} \right]$$

$$\Rightarrow \sum_{r=0}^{\infty} w_r(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda-(k+1)}} + \mathbb{Y} \left[\mathfrak{h}(y,t) \right] \right\} \right]$$
$$+ \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \mathfrak{l} \left[w_0(y,t) \right] + \mathfrak{n} \left[w_0(y,t) \right] + \sum_{k=1}^{\infty} \left[w_k(y,t) \right] + \sum_{k=1}^{\infty} \mathfrak{n} \left[w_k(y,t) \right] \right\} \right]$$

$$\begin{split} \sum_{r=0}^{\infty} w_r(y,t) &= \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda-(k+1)}} + \mathbb{Y} \left[\mathfrak{h}(y,t) \right] \right\} \right] \\ &+ \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \mathfrak{l} \left[w_0(y,t) \right] + \mathfrak{n} \left[w_0(y,t) \right] \right\} \right] \\ &+ \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \sum_{k=1}^{\infty} \mathfrak{l} \left[w_k(y,t) \right] + \sum_{k=1}^{\infty} \mathfrak{n} \left(\sum_{j=0}^k w_k(y,t) - \sum_{k=1}^{\infty} \mathfrak{n} \left(\sum_{j=0}^{k-1} w_k(y,t) \right) \right) \right\} \right] \end{split}$$

$$\begin{split} \sum_{r=0}^{\infty} w_r(y,t) &= \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda-(k+1)}} + \mathbb{Y} \left[\mathfrak{h}(y,t) \right] \right\} \right] \\ &+ \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \mathfrak{l} \left[w_0(y,t) \right] + \mathfrak{n} \left[w_0(y,t) \right] \right\} \right] \\ &+ \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \sum_{k=1}^{\infty} \left(\mathfrak{l} \left[w_k(y,t) \right] + \mathfrak{n} \left(\sum_{j=0}^k w_k(y,t) - \sum_k^{j=0} w_k(y,t) - \mathfrak{n} \left(\sum_k^{j=0} w_k(y,t) \right) \right) \right) \right) \right\} \right] \end{split}$$

Extracted formulae from above equation:

$$w_{0}(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda - (k+1)}} + \mathbb{Y} \left[\mathfrak{h}(y,t) \right] \right\} \right],$$
(2.3)

$$w_1(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \mathfrak{l} \left[w_0(y,t) \right] + \mathfrak{n} \left[w_0(y,t) \right] \right\} \right],$$
(2.4)

And,

$$\Rightarrow w_{k+1}(y,t) = \mathbb{Y}^{-1} \left[w^{\lambda} \mathbb{Y} \left\{ \sum_{k=1}^{\infty} \left(\mathfrak{l} \left[w_k(y,t) \right] + n \left(\sum_{k=1}^{j=0} w_k(y,t) - \mathfrak{n} \left(\sum_{k=1}^{j=0} w_k(y,t) \right) \right) \right) \right\} \right].$$
For $r = 1, 2, 3 \ldots$

3 Application of Yang transformation method for solving non-linear time-fractional Sawada-Kotera equation

We analyze the time-fractional Sawada-Kotera equation to demonstrate the usefulness and accuracy of the suggested technique [9].

$$D_t^{\lambda} + 45w^2w_y + 15\left(w_yw_{yyy} + w_{yyy}w\right) + w_{yyyyy} = 0; t > 0, \ 0 < \lambda \le 1$$
(3.1)

With initial condition-

$$w(y,0) = 2A^2 sech^2 [A(y-B)]$$

Where, A and B are arbitrary constants and $A \neq 0$. By applying Yang transformation on eq.(3.1)-

$$\Rightarrow Y\left[\frac{\partial^{\lambda}w}{\partial t^{\lambda}}\right] = Y\left[-(45w^{2}w_{y} + 15(w_{y}w_{yyy} + w_{yyy}w) + w_{yyyyy})\right]$$

$$\Rightarrow \frac{Y[w]}{w^{\lambda}} - \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda - (k+1)}} = Y\left[-(45w^2w_y + 15(w_yw_{yyy} + w_{yyy}w) + w_{yyyyy})\right]$$

$$\Rightarrow \frac{Y[w]}{w^{\lambda}} = \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda - (k+1)}} + Y\left[-(45w^2w_y + 15(w_yw_{yyy} + w_{yyy}w) + w_{yyyyy})\right]$$

$$\Rightarrow Y[w] = w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda - (k+1)}} + Y\left[-(45w^{2}w_{y} + 15(w_{y}w_{yyy} + w_{yyy}w) + w_{yyyyy}) \right] \right\}$$

Applying inverse Yang transformation to equation:

$$\Rightarrow [w] = Y^{-1} \left[w^{\lambda} \left\{ \sum_{k=0}^{n-1} \frac{w^{k}(0)}{w^{\lambda - (k+1)}} + Yw^{\lambda} \left[-(45w^{2}w_{y} + 15(w_{y}w_{yyy} + w_{yyy}w) + w_{yyyyy}) \right] \right\} \right]$$

$$\Rightarrow \sum_{n=0}^{\infty} w_n = Y^{-1} \left[w^{\mu} \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda - (k+1)}} \right] + Y^{-1} w^{\lambda} Y \left[-\sum_{n=0}^{\infty} 45 w^2 w_y - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) - \sum_{n=0}^{\infty} w_{yyyyy} \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 45 w^2 w_y - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) - \sum_{n=0}^{\infty} w_{yyyyy} \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 45 w^2 w_y - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) - \sum_{n=0}^{\infty} w_{yyyyy} \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 45 w^2 w_y - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 45 w^2 w_y - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 45 w^2 w_y - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) - \sum_{n=0}^{\infty} 15 (w_y w_{yyy} + w_{yyy} w) \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 45 w^2 w_y - \sum_{k=0}^{\infty} 15 (w_k w_{yyy} + w_{yyy} w) - \sum_{k=0}^{\infty} 15 (w_k w_{yyy} + w_{yyy} w) \right] = \frac{1}{2} \left[-\sum_{k=0}^{\infty} 15 (w_k w_{yyy} + w_{yyy} w) - \sum_{k=0}^{\infty} 15 (w_k w_{yyy} + w_{yyy} w) \right]$$

Now, by using the proposed analytical technique on Equation, we have:

$$\Rightarrow w_0 = Y^{-1} \left[w^{\lambda} \sum_{k=0}^{n-1} \frac{w^k(0)}{w^{\lambda - (k+1)}} \right],$$

Consider n = 1:

$$\Rightarrow w_0 = Y^{-1} \left[w^{\lambda} \cdot \frac{w(0)}{w^{\lambda+1}} \right] \Rightarrow w_0 = Y^{-1} \left[\frac{w(0)}{w} \right],$$
$$\Rightarrow w_0 = w(0)Y^{-1} \left[\frac{1}{w} \right] \Rightarrow w_0 = w(0)$$
$$\Rightarrow w_0 = 2A^2 sech^2 [A(y-B)]$$

$$\Rightarrow w_1 = Y^{-1} w^{\lambda} Y[-(45w_0^2 w_y + 15\left((w_0)_y (w_0)_{yyy} + (w_0)_{yyy} w_0\right) + (w_0)_{yyyyy})]$$

$$\Rightarrow w_{1} = 64A^{7} \tanh \left[A(y-B)\right] sech^{2} [A(y-B)] \frac{t^{\lambda}}{\Gamma(\lambda+1)}$$
$$\Rightarrow w_{2} = Y^{-1}w^{\lambda}Y[-(45w_{1}^{2}w_{y}+15\left((w_{1})_{y}(w_{1})_{yyy}+(w_{1})_{yyy}w_{1}\right)+(w_{1})_{yyyyy})]$$
$$\Rightarrow w_{2} = 512A^{12}sech^{4} [A(y-B)] \left[2\cosh^{2} [A(y-B)]-3\right] \frac{t^{2\lambda}}{\Gamma(2\lambda+1)}$$

 $\Rightarrow w_n = Y^{-1} w^{\lambda} Y[-(45w_{n-1}^2 w_y + 15\left((w_{n-1})_y (w_{n-1})_{yyy} + (w_{n-1})_{yyy} w_{n-1}\right) + (w_{n-1})_{yyyyy})]$

The result of the series is-

$$\Rightarrow w(y,t) = w_0(y,t) + w_1(y,t) + w_2(y,t) + \dots$$

$$\begin{split} w(y,t) =& 2A^2 \mathrm{sech}^2[A(y-B)] \\ &+ 64A^7 \tanh[A(y-B)] \mathrm{sech}^2[A(y-B)] \frac{t^{\lambda}}{\Gamma(\lambda+1)} \\ &+ 512A^{12} \mathrm{sech}^4[A(y-B)][2\cosh^2[A(y-B)]-3] \frac{t^{2\lambda}}{\Gamma(2\lambda+1)} + \dots \end{split}$$

For $\lambda = 1$, the exact solution to the preceding equation is given by:

$$\Rightarrow w(y,t) = 2A^2 sech^2 [A(y - 16A^4t - B)]$$

Remark: The previous result is equivalent to the exact solution of the fractional Sawada-Kotera equation[8].

4 Conclusion

In this study, the Yang transformation approach has been used to solve the time fractional fifthorder Sawada-Kotera equation. The resulting findings are then contrasted with precise solutions. The numerical solutions to the aforementioned issues show quick convergence with few calculations. The current method for getting numerical solutions to the fifth-order Sawada-Kotera equation is relatively straightforward, efficient, and practical. The suggested method's successful use in solving the time-fractional Sawada-Kotera equation validates its ease of use, effectiveness, and adaptability. Therefore, this suggested method can be applied in a wider range.

Conflict of Interest - Not applicable.

Data Availability Statement - All the data is provided in the manuscript.

References

- Baleanu, Dumitru and Inc, Mustafa and Yusuf, Abdullahi and Aliyu, Aliyu Isa, *Lie symmetry analysis, exact solutions and conservation laws for the time fractional Caudrey–Dodd–Gibbon–Sawada–Kotera equation*, Communications in Nonlinear Science and Numerical Simulation, **59**, 222–234, (2018).
- [2] Liancun Zheng and Xinxin Zhang, *Modeling and Analysis of Modern Fluid Problems*, Mathematics in Science and Engineering, 1-37, (2017).
- [3] Gupta, AK and Ray, S Saha, *Numerical treatment for the solution of fractional fifth-order Sawada–Kotera equation using second kind Chebyshev wavelet method*, Applied mathematical modelling,**39(17)**, 5121–5130, (2015).
- [4] Zheng, Bin and Wen, Chuanbao, Exact solutions for fractional partial differential equations by a new fractional sub-equation method, Advances in Difference Equations, 2013, 1–12, (2013).

- [5] Yang, Xiao-Jun, A new integral transform method for solving steady heat-transfer problem, Thermal Science, **20**, 639–642, (2016).
- [6] Alshammari, Saleh and Iqbal, Naveed and Yar, Mohammad, *Fractional-view analysis of space-time fractional Fokker-Planck equations within Caputo operator*, Journal of Function Spaces, **2022**, 1–12, (2022).
- [7] Shah, Nehad Ali and El-Zahar, Essam R and Chung, Jae Dong, *Fractional analysis of coupled Burgers equations within Yang Caputo-Fabrizio operator*, Journal of Function Spaces, **2022**, 1–13, (2022).
- [8] Dinarvand, Saeed and Khosravi, Soroush and Doosthoseini, Ahmad and Rashidi, Mohammad Mehdi, *The homotopy analysis method for solving the Sawada-Kotera and Lax's fifth-order KdV equations*, Advances in Theoretical and Applied Mechanics, **1**(7), 327–335, (2008).
- [9] IYIOLA, OLANIYI SAMUEL, A numerical study of ito equation and Sawada-Kotera equation both of time-fractional type, Advances in Mathematics: Scientific Journal, 2(2), 71–79, (2013).

Author information

Mamta Kapoor*, Marwadi University Research Center, Department of Mathematics, Faculty of Engineering and Technology, Marwadi University, Rajkot, 360003, Gujarat, India. E-mail: mamtakapoor.78@yahoo.com

Simran Kour, Department of Mathematics, Lovely Professional University, Phagwara, Punjab-144411, India. E-mail: simrankour2410@gmail.com

Geeta Arora, Department of Mathematics, Lovely Professional University, Phagwara, Punjab-144411, India. E-mail: geetadma@gmail.com